a=3"2L ], 27 & aof B Aoz YERfH?

O 81a? @ 243a> @ 814° @ 24343 (B®)729a43

B

1
a=32x3"=-x3"

. 3*=09a
27% = 3% = (3%)3 = (9a)® = 93a®




a b
® 3b @8a+3b ® 8a+9b
@ 9b ® 8bh-9b

(A1) = 4a + 6b — (3b — 4a)
=8a+ 3b




—4x2 4+ 2x 3y?2 -2 _1
’“x x-yyxy 7h¥s) e ), x o] A

b 2t SFA}. olw, ab °] h2?

it

s @ ® 4 @ -2

Sa.ydA+TE

~&B

—4x2 4 2x 3y = 2xy
X Yy

—4x+2 -3y + 2x

=-2x-3y+2
a=-2,b=-3
. ab=6




xoll T ARPYHA 5+ 19 = 23] 5 Fohw?

@0.3 @ 0.03 ® 0.13 @ 0.23 ® 0.33

.. 23-2 19-1 3 .
—23-19=""2_2""_2_03
¥=23-19=—9 9 9




@ (-3x3)2 = -3x° @ (-22x%y)3 = 32x"y?
a2\? o
@ (202)4 = 1606 @(—b—4> = b_8
(ﬁf _2n?
X x4

(=3x3)? = (=3)%x5 = 9x6
(_22x4y)3 — (_22)3x12y3 — —64x12y3




® 5

Al

—2x —x+3-x" - 3x+4
= =3 —dx+7
x947=]]—,—‘____’ e

ae 7

=

s}



7. 2(x+ay) (bx+y) = 24x* + cxy — 6y & W, A4 a, b, ¢ oA
a+b-c 9 g2?

@7 @ 8 @9 @ on

~&B ~

2 (4x + ay) (bx +y) = 8bx* + (8 + 2ab)xy + 2ay?
8bx? + (8 + 2ab)xy + 2ay? = 24x? + cxy — 6y?
a=-3, b=3, c=-10

“a+b-c=10




a+b _a—b

5 Y 3 A o}, 3ax + 6by S a & b o] T
LERHAE?

St AlOZ

D a? +ab +b? @ a? + 2ab - 2b? @a2+3ab—2b2

@ a® - 3ab - 20> ® a? - 3ab + 2b?

3a(a—§b) +6b<¥> = a® + 3ab — 2b?




ﬂ%ﬂﬁ”i$ﬂﬂ4@¢h%°M:

9% a 9% a a
O|ER 4 & oj"
180 = Px3xs —2xg e
2 Uehd 4 9l

pa

71 H =

Jo

!




® 4991

& 8452 et 0.2758 o]tk a 9] §H27?

@ 4992 ©® 4993 @ 4994 @4995

0.2758 =

2756 1378 1378

9990 _ 4995  a

©a=4995




11.

A5 n o cfstel, e A& Aot

Aufezt

12n + (_

1)2}1 + 14n + (_

1)4n + 16n + (_1)6}1

@ -3

® 0

@ 3 ®)6

,@

1"

12n_|_(
o]t

1)*'+

= {1

14ﬂ+(

1)*'+

P} =1 =10]88,

16n+(

1)”

=1+1+1+1+14+1=6




12.

x_|_y:3, xy:20é[q1,x4+y49’]%):%?

@ 15 @16 @7 @ 18

P =(x+y)?-2xy=32-2x2=5
Loyt = (P +)°)? - 2(w)? =25 - 2x4 =17




13.

1 ..
x=0a°]11-——==081 ¢ a2 g2?

1
1+ -
X
o1 @ ® 3 @ 4 ® 5
1 1
1- =1
1 1
141 x+
X X
X _x+1_ X
x+1 x+1 =x+1
— 1 —
x+1 11
2
9(x+1) =11, 9x~|—9:11,x:§
a=2




14.

27° + 37" = 3° A W, n o] F27

® -2 @ -1 ® 0

@1

5)2

(3%)°+3" =350|BR 15-5n=5
L n=2




15. the 49| zhe Fahu?

x2yz_ 2Xy+xy2z 1 1
ST SN S
XyzZ ( X 2 > Y 3 s Z )
1 1 1 5
2 3 6 - 0

B

x2yz — 2xy + 9%z
xyz Xz




